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He extended the time for her — NRINST 19 ININT

OVERVIEW

The X713 explained that when 2R taught that if someone is W7pn with NXI7
mbn it is a valid P 7p (however one is forbidden to do so initially for it is
n°27 nwa), it is in a case where he extended the due date of her loan. n1501n
cites the explanation of *"w1 concerning 117 712 MK and the Mo°R of nMIW:
n°27. However, moown disagrees with °"wA concerning n°27 n»aya, and
therefore has a different interpretation in X312°7 7% 117X as well.

— 1% 1Y 111D NN NNYAY DIVIIPA VWIS
>""w9 explained that she owed him money (which was already due) and he

gave her additional time to repay the loan -
— 175 DY 209%YW NV DIRD NIMI NN NRY N ANIND MY SWTPNN N 9N

And he said to her; become nw7p» to me with this benefit; for you

would have given to a person a ;7179 that he should appease me to extend

your loan (and now it did not cost you anything) -
— nuhpn ‘45 1Y wre oN)

And if he expressed it so to her explicitly, she becomes nw72% to him —

N

W continues -
—%m3m DYPY 11 N b NP NDT 999) %29 XD NPT NN ’w:n NNIYM

And this is considered n°29 n29y7 but not real n°21 for he initially never
assessed an amount for her to pay for this extension, and he did not take

anything from her.
— NYUNPN 1N NN NNINA Y SYUTPND 1Y 1NN MYNRN Y 1Y NN ON 19V Y9

"It would seem that it is necessary for him to say to her that the 7w17p is based on her gaining a 7v112 that
she would have given to someone; but not that the 7w17°p is based merely on the benefit of having her loan
extended. See (however) following footnote # 5.

* n°27 Mawn means that you are collecting n°21 in a deceitful manner, by circumventing the prohibition of
n"17 in a devious way. There is no actual (1312772) 73 MOX for N°27 N WA, however it is deplored. The X nx
in 2,90 1"2 states N2 DRIV "197 T"ORY PIMA 1AW 02T WO

? »"1 seemingly maintains that the XN N°27 MK is only if at the time of the loan, a fixed amount
was agreed upon to be paid as n°27 (and the m> gives something tangible to the 7%»). In this case there was
no agreement at all concerning n°27 at the time of the loan.

* It is not even a J1277» (1M3) n*27 since the man did not actually receive something tangible from her.
However, it is considered n°27 nn v (which is also 07°727» MOX [but it iS not as severe as MnA N°2N
0m"27] see previous footnote # 2).

> Here *"w1 does not mention the 10119 that she is gaining; for she is gaining the 7x37 of having the entire
loan being forgiven which is something tangible (see previous footnote # 1 and 72 MR 7"210).
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And certainly if he released her from the entire loan and said to her;
become nwTpn to me with the X7 you received by having this loan

nullified, she is nwTpn -
— AMYH) NHY DN 929V NY 291 7910 IND MYNN 9PI¥a NVTPN 3 YaN

However, if he is w7p» her with the original money which he lent her, she
is not nwTPn, since he gave her nothing now, for the money is already
hers and in her possession. This concludes >"ws.

N190IN comments:
— 0199 WIRY MM NUNRN PRY 113 50 XY NYIND 15291 WY A1)

And that which >"v7 explained that it is not considered 73xp ns29 (fixed

n°a9) since the woman is not actually giving anything to the man; this

explanation -
— 0195 NY INI KDY PYWITIPA NVIND AT NY )N "MW 2 NI NY

Is not acceptable, since he (is) [should be] giving her this virtual 7uy2

for her PwY7SR, but actually he gave her nothing, therefore -
— 93123 11929 1) WM NV 1Y NINI 1IN N

It should be considered as if she gave him an actual 792, and it should
be considered as 9173 n529. This cannot be considered as n°27 N W

Moo explains what indeed is n°27 nPYv:
— %% s naa 120N 9D PN NINT (3,30 97 X80 xa2) NIND 999

And only by cases similar to the case of; ‘I do not have a 1%, but I have

wheat worth a mn’ -
— M5h 903 9N 9N XYY DIIPNY 139 NNIYN MDY TV

% Moo changes slightly the wording in "wA. Instead of saying as *"w7 does 7% 2pw 1 K91 (stressing that
the man received nothing), M20IN writes 0173 W R? NIN1 TWRT PRY (stressing that the woman is not giving
anything to the man). See %% W™ 7"72 AP NIX *"72 who offers a possible explanation for this change.

"1t seems that N19OIN agrees with *"w1 that she would be nwTpn in the case which w1 illustrates; mson
disagrees with *"w" (only) concerning why it is called only n°27 nn7¥7 and not 713 N°27.

¥ The w"w amends this to read 770" (instead of X17W).

? See 1"nx footnote # 95, that this means 112777 73 127 (not RNXTA). See (also) “Thinking it over’ # 1.

10" A borrower asked to be lent a hundred 177 (a 7m); the lender replied that he has no 711; however, he has
wheat worth a 7731, which he is willing to lend (and be paid back a 771n). After the borrower took possession
of the wheat, the lender bought back the wheat from the borrower for ninety-six 17 (the borrower agreed,
for he needed the cash). What happened here in reality is that the lender gave the borrower ninety-six 17,
and the borrower owes the lender a hundred 7. This type of n'27 is essentially n; however it is 70X
112777 for this is considered n*27 NV,

" The X3 states (2,30 »"2) that the (general) rule of n°27 is 701 & (payment for waiting). If one receives
payment for waiting for his loan to be repaid this is considered n°a1. In the case of *> X 711 there is no real
q01 73R, since he lent him a 711 (worth of wheat) and he is being repaid a m1a. The fact that the borrower
sold him the wheat for ninety-six 17 is not part of the loan but is treated as a separate sales transaction.
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is it possible to consider it n°29 n»9wa, for he is devious that it should not
be 9% w1 TN,

mooIn offers his interpretation:
— 9NN DIRD MYN NN NNPNY RXIN Y9NT DN 13%29 W9 )95

The n''9, therefore, explains that we are discussing here a case where she

owed money to another person (not to the wpn) -
— NIIT N INNIND NVIFD MVNT 1M NT NI 99T 1INIT YA

And the time arrived for the woman to pay her debt, and the w7pn came

and gave the lender a 7195 to extend her additional time to repay the loan -
— NN NN YD)

And he was wTpP» her with this 1R37 that she received from him, by his
persuading the m%» to extend her loan.

Mmoo questions his own explanation:
— 51529 HNIYN 2291 13 MYYT 9ION INNIN 9INN ON)

And if you will say; why is it forbidden to do so, because it is considered
n°29 np! Seemingly there is no n*27 at all here -

— 11993ND 992917 YWIHNRD 199 %IV (3,00 97 0v) TYI INTIN 7992 99N XM
For the X773 states in @1 ¥R 299, it is permitted for a person to tell his
friend -

— 1915 MY ANIN %39 KIN D90 DION NI IMT 321995 S91IN) 318 71 91HpY
Take four 1 from me and lend that other person money; for the 70
only forbids nv29, which comes from the % to the %7 directly; however in
this case it was an outsider that paid the m%» and induced him to make the loan. The
question is that by m?»2 wipna, the M? who is the woman is not giving anything to the
mMbon; only an outsider is paying the m>»; why should it not be 2m»?! Why is our case
different than the case of 121111 '7 7pw?!

N1B0IN answers:
— 19935 ©193 1) YN PRY 1390 1Y Y

And one can say that this rule that an outsider can pay the Mm% is only

when the /% does not give anything to the outside giver -
— Payon) 105w AN 150 1) 190 BN YaN

However by 1w17p, he is extending the loan to the woman for the price of a 7v172 (instead of paying for the
WTR); this maintains MooIN is not N°27 N»AY:, but rather 713 N°27, since it is a case of 1Y W1 K.

"2 In this case there is certainly no 23 n°21 since the M2 (which is the woman) gave no money to the mx.
" In our case since the woman is not actually receiving money from the wTpn, it is considered as if she is
giving him the 715 of PWITP and the Wpn in turn is giving it to the M». The w7pn thus appears as a mow
from the WX (the M?) to give money to the 7791, which is forbidden.
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However, if the M> would give to the outside giver, the giver would appear
to be an agent of the Mm% and that would be forbidden.

mooIn supports his view:
— 11993ND 992917 YWIHNRD N9 2V (ow) TWI INTINI DNN 1229IN ) 957

For when the X1 also states there in @1 Y7718 279, it is permitted for a

person to say to his friend -
— ¥my915 B9 1,9 DAPNN PRYI 1397 T 191D 23199 91N M 71 DIpY

Take from me four 17 and convince that person to lend me money, this is
permitted only when the recipient of the four 17 does not give anything to

the %% to induce him to make the loan -
— 9N NIV AN NN 15 9N ON D

For if the recipient would give the m%» money to induce him to make the
loan; it would appear as if the recipient is an agent for the m>, and it
would be prohibited.

MooIn asks:
—nY NHINA NY P19 INNIN 9NN ON)

And if you will say; why does the X712 establish the ruling of »2X that

nwmnpn M%7 XA wTPnn in a case of b i) 1N, where he extended the loan; when-
— Bnwnon mYn NXINAT RYnY 9195 A%0 ANNYH NN

He could have established the ruling of nwTyp» mb» nxim by the initial

IRV -
— 19 AYTPN N1VIID NMND MYN 1Y INHNY NVIFD MYNY 1M YTPNIY M

For instance if the wp» gives the m»» a 7w p that he should lend her

money and she becomes nwpn to the giver with that 7uye! Why was it
necessary to establish it in a case of 7% MIR?

Mo0IN answers:
$935 1YY NNGNVY MITN ¥IYN NN NNINA 1Y YU

' Perhaps moon proof (by citing the second case) that there is no transfer of funds from the m> to the 719
via the third party is as follows. If the cases cited are permitting the outsider to give money to the m>n even
if he receives money from the M7 (and the M7 is permitted to give money to the outsider even if the
outsider gives money to the m>n) then there is only one case (not two cases); the outsider is receiving
money from the m? and transferring it to the m>n. The fact that there are two cases proves that in each case
no money was transferred through the outsider from the m? to the m>n. ¥"x P73,

"% It would seem that according to *"w that it is the m%» who is wTpn the AWK, it is understood why it cannot
be %1277 nonna, for then it would be (112977) 71M3 n°27; he is lending her money (which he expects back) and
in addition she is also becoming nwmpn to him (for nothing); she is giving him an additional 7v175.
However according to Moo1n it is a valid question.
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And one can say that the expression of »aX that he was w7pn her nRi2
Yon, indicates that it is a ;779 which she had taken previously.”

SUMMARY

According to *"wn the case of X1 712 MNIRT is where the wipn (is the Mon
and he) extends to her the due date of the loan. It is considered only nnavn
n°27, because there was no agreed upon n°27 at the time of the loan and he
did not receive anything (tangible) from her. mo0In disagrees and maintains
that in such a case it would be considered (312771) 73 N°27 since she is
saving him the 71175 that otherwise he would be obligated to give her.
According to mooIn the case of XinT 7% MM is where a third party is
influencing the m» to extend the loan by giving him a 7119, There is no
n°an at all here since the MY is giving nothing to the m%n. It is, nevertheless
considered n°27 Ny, since it is considered as if she is giving the wpn
something and he in turn is giving something to the m>n; it appears as if the
WP is acting as an agent for the woman to give the m>» something extra.

THINKING IT OVER

1. N®01N maintains that the fact that he is wpn the woman with this 7% IR
X1, it 1s considered as if he is receiving n°27 (the V17D that he is saving).
Why is it a forgone conclusion that the husband is gaining by this marriage;
he is also indebting himself to support his wife, the fact that he is marrying
her should not be considered as if he received something for nothing?!"’

2. mooIn explained that X377 7% MR is discussing a 723 1"y 7w M7 since
»ax initially said m9» (nX17)3, which indicates 123 19y anvaw mon. The
question seemingly still remains why did »aR mention a 122 Yoy an°aw Mo
and not a MY that is currently being negotiated and he wants to be w7pn her
with this negotiated mon."”

' It would seem that the question reverts back to *ax; why did »ax state 7792 nX172?! See X"w i that since
the first 1°7 of *>aR was concerning 71912 wIpn, which is a 925 Y%¥ an°nw M9y, therefore in the second 1°7 he
also chose a case of a 123 1%y an°nw 771, See ‘Thinking it over’ # 2.

17 See 7"y footnote # 95 %51 and TP MK *"a.

'8 See footnote # 16 (this question is on the answer of the X"w2n).

" See n"ma.
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